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QUESTION 1

When dealing with 1A32 (x86) systems, how are the inputted variables treated as they enter the memory stack?
A. Cache for 30 seconds

B. LIFO

C. FIFO

D. FCFS

Correct Answer: B

QUESTION 2

Clay is a SQL dba working for Integrated Solutions Inc., a graphics design company in Miami. Clay administers 10 SQL
servers at the company\\'s headquarters. Clay wants to ensure that all SQL traffic stays within the internal network and
no SQL traffic from the outside can get into the internal network.

What ports should Clay tell the network team to close off at the firewall to disallow all incoming and outgoing SQL
traffic?

A. 1499
B. 1433
C. 389

D. 1434

Correct Answer: BD

QUESTION 3

What is the new lightweight audit framework that is built into Red Hat Linux Enterprise?
A. HelperReview

B. Audit2

C. SOCK review

D. RedHat review

Correct Answer: B
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QUESTION 4

Shayla is designing a web-based application that will pass data to and from a company extranet. This data is very
sensitive and must be protected at all costs. Shayla will use a digital certificate and a digital signature to protect the
data. The digital signature she has chosen to use is based on the difficulty in computing discrete logarithms.

Which digital signature has she chosen?

A. Rabin

B. Diffie-Hellman

C. SA-PSS

D. ElGamal

Correct Answer: D

QUESTION 5

Gerald is a web security consultant for Protectors International. Gerald\\'s main responsibility is to search the Internet for
malicious and deceitful sites that the public should be aware of. Gerald was tipped off about a particular site and is now

looking over its source code in a protected environment. Gerald finds the following snippet particularly interesting. What
has Gerald stumbled upon?

document.write(\\'
\W);

document.hack.submit();

A. Hidden post command
B. Hidden form fields

C. JavaScript hijacking
D. XSS attack

Correct Answer: B
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